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Animal Biotechnology

1. Answer any four questions : 5x4=20

(a) What is restriction endonuclease? Compare different type of restriction endonuclease
and which one is the best for recombinant DNA technology with reason. 1+3+1

(b) What is expression vector? Describe it with diagram. 1+4
(c) Differentiate between genomic library and c-DNA library with example. 5
(d) What is cystic fibrosis? Mention its cause and diagnosis. 2+3

(e) What do you mean by ‘knock out mice’? Write its application in biotechnology.
2+3

(f) What is herbicide resistant plant? Write any two mechanisms of herbicide resistant

plant production. 1+4




(2)

2. Answer any two questions : 10x2=20
(a) Describe the process of recombinant insulin production in bacteria.
(b) State the applications of transgenic plants.
(c) State the process of Western blot techniques with suitable diagram.
(d) Write shot notes on : PCR, YAC, DNA microarray, principle of Sangar method of DNA
sequencing. 2Va%x4
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Or,
Paper - DSE 1B-T
Reproductive Biology

Full Marks : 40 Time : 2 Hours
1. Answer any four questions : 5x4=20
(a) Describe the sex determination mechanism in human.
(b) Write the acrosome reaction of fertilization.
(¢) Write the function of placenta.
(d) Write a short note on IVF.
(e) Write the difference between menstrual and oestricus cycle.
(f) Write the difference between spermatogenesis and oogenesis.
2. Answer any two questions : 10x2=20
(a) Describe the modern birth control method of human.
(b) What is infertility? Describe the cause of infertility in male and female.
(c) Describe the mechanism of hormone action.
(d) Describe the spermatogenesis method.
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Or,
Paper - DSE 1B/2B/3B-T
Insect, Vector and Diseases

Full Marks : 40 Time : 2 Hours
1. Answer any four questions : 5x4=20
(a) Describe the types of antennae. 5
(b) Describe the life cycle of Wuchereria bancrofti. 5
(c) Describe the characteristic features of order Diptera with suitable example. What
diseases are transmitted by Musca domestica? 4+1

(d) What are the hosts of Plasmodium vivax? Which cells of Homo sp. are infected by
Plasmodium? What is the definitive host of Plasmodium? 2+2+1

(e) What is myiasis? What are promastigote and amastigote stages of Leishmania
donovani? 2+3

(f) What are vagabond’s disease, trench fever? Briefly describe How to control human
louse? 2+3

2. Answer any two questions : 10x2=20
(a) Describe the structure of ommatidium. Write the features of order Hemiptera with
examples. 5+5

(b) Describe and illustrate the different types of insect mouth parts with example. 10
(c) Describe the life cycle of house fly. How will you control the mosquito population
in your locality? 6+4

(d) Define mechanical vector, biological vector, primary host, secondary host. What
are the vector and disease causing organism of plauge? 8+2
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